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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. Answer the following questions :
fr=fafea s & sWw SifST .
(i) Name the three types of labour.
99 & 99 TR % W fafem)

(i1)) What do you mean by labour market ?

99 SR H 3TYHT 1 AT T 2
(i11) What is deflationary unemployment ?
foorifarrl SRISFmd &= § 2

(iv) Mention any four characteristics of formal

sector.
A= & *1 HIE AR fowe@n s |
(v) What is Rowan Premium Plan ? Explain.

Yo Hifqzm I = € 2 g9eE)
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(vi) Define Trade Unionism.

o HEaE il g wife |
(vii) What is HUDCO ?

TSH M T ?
(viii)) What do you mean by bonded labour ?

TYST 9 W STIRT N AT T 2

Section-B 8x4=32
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
Qs —d
(g T q99)

feor .- f=l IR 9ol & SW SIfSU) 39 S99 IR OHI

Afreray 200 w8l # 9REfHG FifSTl T8 99
8 31 W T

. Describe the factors that determine the supply

function of labour.

g7 & Ufd wem @ (i@ #9 a qet w A
HIfTT |

MAEC-07/7 (3) TT-206 T1urnOver

3. Explain with the help of a diagram the ‘Collective
Bargaining Model’ propounded by William
Flanner.
faferm IR g whawifsd ‘wnffes SRRt died’ ®

A Sl TEdl § T hifed |

4. What is time based wage system ? Describe its

advantages and disadvantages.

JATER T9GY USMa FN ¥ ? THE A9 F Qe
U FITST |

5. Critically evaluate Lewis and Todaro’s model for

understanding rural to wurban migration in

developing countries.

foerTaetial el H I & I YA i 9HeH & o
dfo| dan AU & ASd H STAAHE HeATH

Hfg |

6. Discuss the various types of challenges faced by

Trade Unions in India.

qRd | offfek Tell & THel Hisg fafye YR i g
&t faa=m wifsT)
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. What are the necessary conditions for the success

of Collective Bargaining ? Explain.

gfes WRarsl ®H1 THOA & AU STEwIH I
FE-HAE T ? T HIfST

. Critically evaluate the major provisions of the

Employees’ State Insurance Act, 1948.

FHAR] TG S FEA 1948 & THE JEEHl F

HIATHAAIHh ‘;_L("Qi%"i T |

. Write a short note on child Labour in India.

ORd § o 99 W U gfera feoon fafem)

Section-C 16x2=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 16 marks.
gug—>
(&d I 99)

10.

11.

12.

Mention the factors affecting the demand and
supply of labour in India. Why does imbalance
arise ? Explain.

IRA § oW HI WU S YT B FAEGd B e i b
AR | STEIeA i Scae B § 2 GHEST |

What is minimum wage ? Why should it be
compulsory ? Give your reasons with reference to
its objects and position in India.

<A WGl # % ? FE A w@ e =mer ?
% IYd wd feafq #1 avie wRa & Wey H wifs
What is the difference between the Conciliation
System and the Arbitration System ? Which of
these rwo systems is more useful considering the

circumstances of India ? Explain.

ol Fael 3R U9 BEA i oo H ol ST

¥ 7 yra &t IRfeafaa & Sed gu s SFl # | S
oy AR ITANT T ? TS wifeu |

der - forl S uvl & SW SIS 3T o7 SR W Sifiehan
500 vr=5i § 9 SIfST | Y&k 999 16 3% 1 )
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13. Describe the reasons responsible for the poor
condition of agricultural labourers in India and
give necessary suggestions to improve their
economic condition.
yra # B At ® A Rty @ forn SwRar wRoh
F1 T wifey R SR omfie frafg # gER Rg
STETTE A ST |
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